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Topic:- Child Development & Pedagogy (CDP)

1) Which intelligence do navigators and sculptors have? 'Fjﬁ'ﬂw'l?}f ¥ frg yepR @t §'@TI<_VIT ﬁ'cﬁ %?
1. Naturalist/ m

2. Spatial/ B IEET

3. Interpersonal/ fqdafades

4. Bodily-kinesthetic/ ¥ RIR-TTde (STSail-HRACH)
Correct Answer :-

 Spatial/ EJNIEC

2) is the method that studies growth by observing and measuring the same individual for

a variable period, during his/her growth / dg fafer % Rorad frdt safea &1 ITat
g&@,wmm%mwmmﬁwaﬁ?wm@amﬂq
SIGIN

1. Mixed Method/ T3 fafer

2. Longitudinal Growth/ &Iﬂ%{%ﬁ?{@

3. Cross Sectional Growth/ 1l &lﬂﬂ-ﬂTﬂ'C[ faopra
4. Extended Method/ fa¥aie fafe

Correct Answer :-

« Longitudinal Growth/ Glﬂ%‘c'ﬁq%

3) Success is most crucial in school performance because it helps the child / ICEIGRE uﬂ"\’h ﬁ,

THadT 999 Heayul @ T 399 9= @1 fA o dee fAredt 8

1. show his knowledge over other students / 3= BT & TH&l 30 I BT U=
2. passing the examination / TRI&T U =1

3. winning Prize / Y¥PR ST



4. feel more Confident about learning / T & Hay T i TeAfay™ Hegd Pl

Correct Answer :-

« feel more Confident about learning / TS & Hdel T 3ifefep Ay HeJH HAl

4) Infants at an early stage are highly ./ IR AT H QTS{[ Aft®d GOk
1. Extravert / Eﬂ%—@@ﬁ
2. Unselfish / frard

3. Egocentric / Whiod
4. Altruistic / WRIUBRT

Correct Answer :-

. Egocentric / Wb f5d

5) Conventionally, how many types of needs are explained in Maslow’s theory? / TRUR® &7 9,

T & Rigid ® fram UeR 3t sraxawarsi o1 afvfa fear mar g2
1.2
2.6
3.5

4.3

Correct Answer :-

6) An extrovert child would:/ Tdh a'%'ﬁtcﬂ CE0)) hT _EaTIT:

1. Tend to think things through inside your head./ 3o 3fidRe AfsTss ¥ fidd &1 Uqd Gond
2. rather just observe./ gfew Ry e sy |

3. Think more and talk less./31f8® feid 3R STadid HH B

4. Like to be in a fast-paced environment./?ﬂ_d dldldry] ff el LR-iQ Elﬁ'l

Correct Answer :-

« Like to be in a fast-paced environment./?‘ﬂ_d IdTaRoT & gl TG B

7) The term personality has been derived from / ‘i’ (mm Treg A 7 3 ferar man %:
1. None of the above /3TYad & § ®Is g
2. Greek / q\:l'l:ﬁ



3. Latin / il
4, German/\_rlfl:f

Correct Answer :-

o Latin/ a é:l

8) The assessment results from personality based projective tests are ./ SafeTed STeTiRa

I T A qeieT daRomy @)
1. Foolproof/ 9Xdl
2. Controversial/ [ddTaRug

3. Futile / Y

4. Objective / aﬁﬁg
Correct Answer :-

« Controversial/ fdaTer e

9) The child worries almost everyday about getting hurt. This is because of ./ T HI die

WA & IR A arw afafeT A e dft 31 sadTdR )

1. Autism / ST (HTTESH)

2. Attention Deficit Hyperactivity Disorder / SITFIHTd Td sfarafebaar fawpR
3. Anxiety Disorder / a1 faer

4. Learning Disability / 3TeRTH S{&HdT

Correct Answer :-

« Anxiety Disorder / IEGIRGEIR

10) Which of the following is not an individual difference likely to affect learning? / ﬁn;ri%r@?r )

B T TP AR 3R g1 @ &Il AHTad: fTH B YHTaId B AhdT 82
1. Body mass / TR STAT

2. Intelligence / §fGH

3. Experience / JHd
4. Motivation / 3THURTI

Correct Answer :-

« Body mass / SRR STHM



Which of the following is a personality test created by Cattell? / fFafafad d 9 o9 91 Sed gRI
AR o T afare wdemr 32

1. Sentence Completion Test / TR q:UTﬂT Rl

2. NEO-FFI / T13 31-THUH3ATS

3. Sixteen Personality Factors Questionnaire / {-I\IC16 Hfadd HRB GHTaaA! (l%ﬁméﬁ Tt e
FARARR)

4. Locus of Control / G0 &1 f&HTT (Fﬁw 3 & é,\|5 )

Correct Answer :-

« Sixteen Personality Factors Questionnaire / HIeTe Afddd SR gyEat (ﬁla%‘a:r qfTferdt e

12) In an aptitude test, any estimate of a person’s future possibilities of accomplishment is

./wuﬁ%amuﬁ&nﬁ,ﬁr\ﬂar%@uﬁma&m@ﬁa&ﬁmeﬁwﬁém
Gt = S

1.a probability/Wﬂ'lﬂTﬂT
2. a certainty/ T (&
3. a question/ U UH

4, an assumption/ Ueh YRUM

Correct Answer :-

« a probability/ T JHTGHT

13) Moving from examples to generalization is: / IGTERUN & ARSI Bt 3% de-l %z
1. Correlation / Hg-gaY

2. Inductive / 3NTHATHD

3. Incidental / 3MTHTRTD

4. Deductive / FRTHATE®

Correct Answer :-

o Inductive / SFTHATHD

14) Bandura believed in Reciprocal Determinism. This means that: / §gT TR Fadarg d
fayra #d A1 sHPT 3 @:

1. The environment and one’s behaviour cause each other. / GRAY G?R oot &1 ogdgRk W—QFQ &
BHRU S 2|

2. One’s environment causes one’s behaviour. / T &1 TNOT, ! & FATER & HRUT T gl



3. One’s environment remains unaffected by one’s behaviour. / fodt & gdglR T foodt 1 afRkawr
3YTfad IgaT gl

4. One’s behaviour is independent of one’s environment. / oot &1 ogdgR, et & ufiaw @ Wax % [

Correct Answer :-

« The environment and one’s behaviour cause each other. / TRAT 3R {3t H1 TIER @-g{-& &
HRU AT |

15) Memory is measured by the method of / '\‘Hﬁf &I o= fafyr & war Siran %:

1. Reproduction (recall) / YT dlqd (W%T g gl E2RE1))
2. Interview / HI&TPR

3. Observation / HddIhT

4. Experimentation / TN

Correct Answer :-

+ Reproduction (recall) / 7ol (i\QOt)Tﬂ gl TG RG]

16) What is the term used to describe the negative attitudes that people have towards an individual

based on their sex? / TPRIHD VDIV BT quI- HIA & fore frg ug 1 IUART fFar w1 2,
or =1 39 o1 & SR R -t aafea & e #va @2

1. Patriarchy / ﬁ?ﬁ?ﬂ

2. Gender roles / \_SI'Iﬁ"T(‘T H&fﬁﬁ
3. Sexism / [RTHG

4. Socialization / JHTSIHRUT

Correct Answer :-

o Sexism/ ﬁ“l‘Tﬂ_CZ

17) What is the term that Piaget used to describe imitation carried out with parts of the body that

one cannot see? / I8 XTeg T g FoTH®T ITANT fUums A TR & I BT & 1Y B T T d P1
ol A & e fpar 8, R o S T awpar &2

1. Invisible imitation / €Y ]
2. Spatial imitation / TS Thd
3. Visible imitation / =T T
4. Model imitation / A& d b dl

Correct Answer :-

« Invisible imitation / HERY dh



18) One’s heredity is determined at the time of ./ fsdt &t GI'Iﬂaﬁ'IW'IT & ITT R
fuffra s st 3

1. Maturity / GRU&T
2. Conception / e
3. Growth / famrg

4. Birth / ST H

Correct Answer :-
« Conception / e
19) Counselling involves ) RTHRE H U] ﬁ?IT % |

1. consultation and interchange of opinions between counsellor and the individual / qTIﬂ’QfE'TﬂT 3R Tfad & &=
fIaR! &1 SeF-UeM SR IR

2. advice from counsellor to the individual only / $HId Aad I MR I TaATg T

3. problem sharing by the individual with the counselor only / Had W IIQiaI(‘II & 1Y Hfdd gRI qHAl
RIEICEGI

4. schools identifying issues with children with needs / SI¥=Xd aTdl Sl o 1Y Hﬁ P UG HA a1
faerera

Correct Answer :-

« consultation and interchange of opinions between counsellor and the individual / W"\’TEUGT 3R Tfdd &

5 foaR) &1 sfieM-UeH iR wRwsf

20) Vocational training to persons with locomotor disability is more related to domain. /

AP FRaiTaT aTa ARl &1 AaERS URIG0T SHF 9 3fie defia 21
1. cognitive / GITTH®D
2. none ofthese/é’qﬁﬁﬁg:‘ﬁ

3. affective / UHTAT

4. psychomotor / HISH AR
Correct Answer :-

« psychomotor / HISH AR

21) Social learning theory was proposed by: / TS SIfeRTH Rigid E:I% SRT Udriad foar
TgT YT:

1. Freud / IS



2. Bandura / S&XI
3. Skinner / PR
4. Pavlov / OTddlld

Correct Answer :-

« Bandura / ST

22) Socially immature students are known as students. / GTHTIOT® &0 | Ufus ST
Eal Bl & U | =1 ST 3|

1. Dependent / BN
2. Alienated / S{CTTT-YcTIT

3. Phantom / 3THTET
4. Social / TG

Correct Answer :-

« Dependent / IGER

23) Social knowledge is obtained through from other people. / <0 | &
HISTH | QTS [ 9w far Srar g1

1. Feedback / Ufdferar (qﬂ’e'.éﬁ
2. Discouragement / B?ﬁ?\‘:ﬂg:[

3. Encouragement / Eh?\‘:ﬂ?:[

4, Logic / LCY (?m\lﬂ@

Correct Answer :-

« Feedback / Ufafehar (qﬂsém

24) According to Gardner, spiritual intelligence is / MER & SR, 3T ATfAre Sfgwdars:

1. the ability to perform transformations on one’s initial perceptions / fdl &t IRMYS yrRomsf &
URGCH B Y &l

2. the ability to contemplate big questions about the meaning of life / Sfad & G%Qq & oy A ofed
THES R fa=R A 1 &l

3. the ability to make distinctions in the natural world / QW gﬁm H faug o= @ &

4, the knowledge of one’s own strengths, weaknesses, desires and intelligence / 30! G &t g,
HHSRG, STt 3R TG BT

Correct Answer :-



« the ability to contemplate big questions about the meaning of life / Sildd & 3519 & JaY T Sffcd
THES R fa=R A &1 &l

25) Formative assessment is: /Wm%z

1. A process that does not involve value judgement / wmﬁmﬁ HTR[ YR (é?{lfrﬁlﬁ?) Rl
TR

2. Performed by evaluating student learning by comparing with a benchmark / A1cUS %wumm
B SHATH & Yedidh gRI fohanfad faran ST g |

3. Used for rating the learner through high-point valuation / IA-PIfe EREE & HregH 3 fRremeff (?*Fh) P
Irgar Fuid s & forg IuaiT foan o g1

4. Less beneficial for the teacher as it does not help to know the weaknesses and strengths of a learner /

Rree & foT Sreaar Aryvie § iifes a8 Rremlf (@ R) o 701 3R GIY &1 o+ & Heg gl dral g |

Correct Answer :-

» A process that does not involve value judgement / Wmmﬁ \HlaQi YRUM (é?qaaﬂa SIEEY
TRl

26) The role of the teacher in a progressive education is that of a / T wTfa=ite fRuem # e #t
TP YT 3:

1. Disciplinarian / 3{R[MHh

2. Instructor / UTRI&H

3. Guide / ANTGRI®

4, Lesson planner / JTd ISHIBR

Correct Answer :-

« Guide / HM[GR[P

27) According to research, peer-assessment is valuable because / MY P SR, '\‘IEH’Tlﬁ
Yo+ Jeud g Fife
1. it encourages competition among the students / WW%WWH‘T@WW%I

2. pupils may accept feedback from one another on their work / 91 30 HTH R Udh W J
gfafpar o o I&d B

3. students know their rank in the class /€§'I3T$&‘I'fﬁ mﬁﬁlﬂﬁ%l

4. it reduces workload for teachers to assess the students / I8 BT & Hedih & fore gt & wd
SIS B FH FA 5

Correct Answer :-

« pupils may accept feedback from one another on their work / &1 309 HTH R Udh QFQ q
gfaforar Ui &R IHhd §



28) According to Fabiano, Pelham, Manos, Gnagy et al. (2004) an effective means of reducing disruptive
behaviors including aggressiveness, destruction of properties and non-compliance in the classroom is?

/ Wi, UdsH, 9, 19 U ofd (2004) & AR, H&T A SThTHET, JUIHT &7 fa=r=r
3R R-3guTer Gfgd faeTeR TaeR & FH $H1 T TS T e =1 32

1. Time —out (TO) from positive reinforcement / TP IRTHD {;Liér\lqinI 5| CIQH-313¢C (é)[‘-’rh)

2. Time —out (TO) in the classroom / D& T CIgH-313C (é)f B‘h)
3. Corporal punishment / IRING &8
4. Detention / FFRIY

Correct Answer :-

« Time —out (TO) from positive reinforcement / YD RIHD WUT | CIgH-313¢ (_cpf 3ﬁ)

29) Sometimes, children are dissimilar to both the parents. This is because of the Lawof _ ./

Fl-m M, sa-Rar Yo divar . SfPomderRusarsl
1. Segregation / GUTHRUT

2. Variation / fafderr

3. Dominance / U4

4. Regression / UCTTHA

Correct Answer :-

« Variation / fafaerar

30) In Sternberg’s theory of intelligence, wh|ch of the foIIowmg steps involve finding a solution to the
problem? / TG & gfgwn & Rigia #, Frafafaa ¥ 9 fow avor o aww &1 qury= g«
HT A 72

1. Application / e«r@’crqh (Q'Tﬂwtl)
2. Mapping/ﬂﬁﬁﬁm (ﬁﬁﬂ)

3. Encoding / Hbd (SADITET)
4. Response / Ufdfshar (Rai=)

Correct Answer :-

« Response / ufaferar (hW\IJT\‘:D

Topic:- General Hindi (L1GH)

1) HRI A T9 el A I T IRT TG T 41| ST TR WR HA-Hd Bl g5 PRI, fFIR & Be-81¢ v
g 3T g HEHelt W | frait Hev g WHRaR 3t ardl | g8 U | TP & 918 TP o WA USd U, Die-Die Ugre!



STHEF, TG B g R BIf-Hft FRA a1 I7H AR arat 71 A1a W 99 g YA | $E1-Fel TP o dig &
STl | Tordt f1 -2, SR T Wl g8 deddt die ard seR-wt gew wR R- a9 Telt = %@ <At
IRAT T AT 3R I YPTae P q1¢ ITDT JeTa-Tu+ gH t Teras §971 T8T 4Tl W w0i-w0) 99 3 9¢ 3 6,
AR A § TP 3roiig-dY fARTemm o1t o 381 <1 3@ @) g9 @ P F Aeidie €, SRit 9 18 Hid T 3,
i Rt B Wa 8, W el 141 98 Irgfera Hied, a8 oiTg S ST & TR F AT SI1aT U713 /A W TS
Tganft A $g71 U1 f FiR F g & 38 S 7 Siftre wter 8, el oft F a8t sArafaa anr feram ot ok
w51 U1 for fgeoRds &1 ey S # 81 ghar 81 3 7Y, °rdl, |, 7d Gex 7, g ot w=ian & gy at 98l
ﬁ%lwmﬁ-ﬁﬁﬂmwwﬁﬁﬁmﬁﬂmﬁaﬂeﬁ?m’r @WWWW it 3rdd,
fpe SRIAIY 3R 3 ® df &y THR A W, HAP AT Y[ off bt ar wfafpar f gart 37 Wransi w1, a8
ree 81 81 uran, Tl 3 fapa gu A1 a1 99 A TP 9gd da1 Uis o iR ot wR gg @l

TR Ft U1t & IR | ol St udauran 8, 39 W, faga RRaw iR, S1ar 391 g 81 Siar & gadt oiR
fip 2T YR= B STl 31 B & 3 W ATh 99 3Pt | Biel-4l, fAaepd I9eT-I1 M4 3R 96 FT af Hgl A1
o= Y| foapa ot e 5w @1 fam R o1 &1 SFETd §U S | IRT 6 oaT o1 adf Ui @Y gff-an wsy
WST 38T M| faraar SR Wed AT o1 Jrw= &1 urdl § | 39 S $t udauren A 3 3Ed # 98 o R
B 37 f3f ord) fsur ) R, 3O =R ok gar € & a1 #3a 1| varw W DY a8 o, ¥ AEHel Srei
S W, R e $I RIATE Hred 99 gU ard-a1d I, RFd AR he-Tihg TR &1 $ar iR 3eR-IWR A
amamﬁmaﬁmﬁaﬁaﬂa%ﬁ-@ﬁ#ﬁﬁmﬁémuﬁmﬁ?ﬁéﬁaﬁa%ﬁﬁw
FATs | dUe g, TG A T G| BT §H TP gax AP | gd 3T & | FaT GHAR, FAT e, FaT Il

B3 3R 3011 frepae & @ 39 Rl W S[d SARSR, Uiq WSS 3R 9g-T arieu|

ST TR $ UgHR ) U T U= $T Ik Ia13¢|
UR: $EI A 99 a1 & 916 I & €XG g0 a2
1. YA

2. lerrag
3. P
4. B

Correct Answer :-

2) I A 79 Telt d I BT ART T I¢d TAT1 oI TRIR] WR $A-Hd Bl g3 B, IR & B1e-81e Y=
T 3R g¥ AEH W | fHa-t Feav 8 TR 3t °ardt g8 Ut TP & 91¢ U 99 ©E USd 3, Die-Bie Ugist
STHEM, UG B g AR HW-59f Bt 71 ITH ARA aret 1) A1 W 91 §¢ ol | H)-Hel oo ol 91 &
ST | TRt A1 -2, T R Wil gE Fediel fo ara seR- Tew wR fR-R a9 =elt = 7 ot
TRAT FETIAT AT 3R I YP1ae F qIG SUBT GeTa=Tu g6 W} dx1a 511 38T Tl W w49i-541 a7 3 a¢ I8t <A,
TR U1 # U refa-3} fART=mm o1l o 78t i1 3@ at 87 @1 S & Teidie 8, Pt § 18 Hid T 3,
o i 58 Hid 8, W o581 11 98 g Higd, I8 S1g o ST & I § AT ST 471 3Td 699 3 T
Heanh 3 w1 T fP PR & goEa A I S 2 it Wer 8, wieh it 2 agY ‘smmafaa anr foram a1 8k
Fe1 U1 fr fyeoRds &1 sy S & 8 gar 21 3 7Y, urdl, Qd, a Yex §, fHg sa-t w=ian & gy ot 98
& 81 g0 wfi-waft sromT T gra oft 9 araa W FRA @ iR S-S I ATl it A, - Sidd,
fpe SRy 3R 3 ® dl &y gHR A W, TP AT [ off 5t arar wfafpar f gardt 37 yansi w1, a8
e 81 g1 uTan, Fiifes 3 fapa gu A1 g1 99 A TP 9gd |a1 Ui frn iR o1d R geq @t

TR Ft 91t & IR | &l St udadTan §, 39 W, [Tagd RRaR iR, S 3971 g 81 S 3 gadt oiR
fh3 oTe == &) STl B 1 P11 & 32 W ST 99 1 | BIel-I, Naea I9sI-11 7 3R 9% &7 a St A
o= 78| e a o7t Y 3w @11 fPann R o1 &1 3T §U a9 | IRT 6 ol 41 ag) uRR # gfef-ar wsy
WST 8T M| fraar SR Wed faaRT o1 9= 31 urdl § | 39 1A 3t udauren A 3R 3Ed # 98 o R
®1 31 faaft ardt fsur Tt B, 39w =R ok ger & @t a1 Hea 81| v W DY ag uidt, ¥ awet Sref
S W, R e Bt RIATE Hred 94 gU ard-a1d I, e fFIR Ahe-Tihg TRR] &1 $ar iR 3eR-IWR A
Wmﬁmaﬁawﬁéﬁaﬁa%ﬁ-@ﬁqﬁﬁlmﬁamuﬁm%ﬁaﬁﬁmaﬁm
FATs B dUe G, @ A T G| SHTATT §H TP gOx AP | ga 3T A1 3T GHHR, FaAT GaT, FaT ol

g3 3R 3011 e & @ 39 eRet W S[d SARSR, Ul NigH 3F 9g-T arfeu|

SUYF TR B UgHY 2 I Y YA HT ITX qATSY|



w=: i Sft 3 P A 5w 3= S e g T2
1. Gf&T 3Bl

2. 9 fied

3. RgesRdls

4. %Y

Correct Answer :-

3) ®I A T Tl df I BT YRT T 967 AT GSId TR TR HA-5d Bl g3 B, IR & B1e-81e Y=
Tt 3R &Y AEHe A | fFa-t Feav 8 TR 3t ardtl g8 w1 T F 91¢ Uh 99 VA USd 3, Die-Bie UgIst
STHEM, 19 B g R HIft-Hft FRA a1 I7H AR arad 71 A1a W 99 g YA | FEl-Fel TP o dig &
STl | Tordt f1 -2, SR T Wil g8 dedddt dio ard seR-w gew wR - a9 Telt o ¥ <t
IRAT T 4T 3R I YBTae F q1¢ ITDT JeTa-Tu+ gH t dEras §971 T8T 4Tl W w0i-w0) 99 3 9¢ 3 6,
TAR 19 A U 3rofa-} fARm=mm o1t i 36 A1 3@ ot g9 @1 SR F TAodie €, FRI A 18 e 99 3Ny,
o i 58 Hid 8, R S81 11 98 g Higd, 9§ STg ol ST & a1 § AT SIrdT AT 1 37d 699 3R T
ARl 7 wgT T i FIR & goraa d I S A i wigt g, wieh it 7 agf smmafaa ahr foram ¥t 8ik
Fel U1 for fgeoRds &1 sy S & 81 gar @1 3 7dY, uidl, W, 79 Yer §, fHg ga-t w=ian & gy ot 98
8 &1 59 FW-F N 3ruar W gt off | ogad o FA @ 3R Y-S S A Sirat T, - 3,
fpY SRIaIY 3R 3 ® dl &y THR T W, HAP AT Y[ off 5t ar wfaferar i gart 37 Wransi w), a8
wree 8 81 uran, T 3 fasa gu A1 91 99 A UH 9gd da1 Uis o iR o1 iR g @l

TR F U1t & IR | &l St udauran 8, 39 W, fagd RRaw iR, S1ar a1 g 81 Siar & gadt oiv
fp 2T YR= 31 STl 31 B & 3 W ATh 99 3Pt | Biel-4l, fAaed I9e1-91 M4 3R a6 FT af Hgl A1
o= Y| foapa ot e 7w @1 fam T o1 &1 SFETd §U S | IRT 6 oaT o1 adf Ui 3 gfd-an w@sy
@ST ¥eT 1| fraqr 3R ey foRerT 41 arA &1 u1dt #§1 59 ST @) ydaurer A 3uA 3iEd | 98 o egR
31 T faht ardt fisur 7€t 2, s fp=R ok Tar € Y are wea 817 | v=rel Hia =Y a8 Ui, &Y AaHelt Sreis)
S W, R e $I RIATE Hred 99 §U ard-a1d I, RFd fFIR he-Tihg TRR) &1 $ar iR 3eR-IWR A
STHT ATTH A IS &1 arelt da o1 afsar-dt afear 7= & e a6 sma fF 37 9l o) afsal 1 st
FTs | dUe g, TGl A T G| AHTATT §H TP gax AP | gd MY & | FaT GHAR, FaAT e, Fa-T ol

B3 3R 3011 frpae & o 39 Rl W S[d SARSR, Uiq WSS 3R 9g-T arieu|

SUad TR B UgHR ) UD T YA BT @ Ia13¢1
W= et o A T W ermfaa T frar ur?

1. ToRTd

2. BT

3. HYAR

4. fgeoRds

Correct Answer :-

4) R T T T @ IRA BT ART €A 98 TT| S TRRT R FA-HA el §5 DI, faR & BIe-Bi Gav
7T 3R g¥ AEH W | fHa-t Fav 8 TR 3t °ardt| g8 Ut TP & 91¢ U 99 WA USd 3, Die-Bie Ugist
STHEM, I B g R FUt-H 1l FRA a1 ITH ARA 9ra 7 A1l IR 91 g Y| FEl-hel Geb (Ao s &
mﬁﬁgﬁwzﬂléﬁﬁzﬁ FWR 4 1t g€ Fodlelt dis ara soR-W Tse W R-¢R a7 =l W 7@t o
TRAT FETIAT AT 3R I YP1ae F qIG BT GeTa=Tu g6 W} dx1as 511 387 Tl W w4i-5491 a9 3 §g It <A,
TR 79 A T 3roig- = o1t o 36 A1 3@ at 59 a1 SR F Aokt 8, FRI A 18 e Id 3Ny,
ST i 58 Hia 8, W S8 1 98 g Higd, I8 S1g o ST & S § AT ST 471 37d 699 4 Th



TEARM A BT 4T f% FUR & goraa & 3= ST A 3ifire dier €, ik o 3 o) srrafay anr @ o1 3R
T 4T iF fRaeords &1 smura s1art d € giar 81 3 1), a1dl, Jd, 7ia Yoz &, fhg ga-i u=i & arg af 1t
ﬁ%lwwﬁ-ﬁﬁmwwﬁﬂﬁmmﬂmﬁaﬁaﬁ?m’r @WWWW Y-t 3rdd,
fpv Sridly ST o & Y &Y TAR AR W, AP AT Y[ ot Bt o wfafesar B gardt 37 uransi w1, 9
Tee Tl gt uTdn, ®ifF 3 fiaea gu &1 Jgwr 99 A U 954 a1 A forn ok g iR 9 @t

TR Ft U1t & IR | &l St udauran 8, 39 W, fTagd RRaR iR, S1ar 391 g 81 Siar & gadt oiR
fp 2T Y= 31 STl 31 BRI & 3 W ATh 99 3Pt | Biel-4l, fAaepd I9e1-I1 M4 3R a6 FT af Hel A1
o= 7Y | foapa ot e 5w @1 fpam R o1 &1 SFETd g S | IRT 6 o8t o1 adf Ui # gff-an w@sy
@sT veT T fraqr 3R ey foRerT 41 ara o1 u1dt #§1 39 ST @) ydaurer A 3uA 3iEd | 98 o SegR
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2. 13 el

3. qdl-dadr

4, foIR SR T8
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. fpR AR Ter

5) HI A T el df I BT ART T 95 AT FoId TRAR] W HA-Hd Bl g3 B, fFIR & Be-81e =
Tt 3R g AEHe W | fHa-t Fav @ TR Ft °rdt| g8 | T F 91¢ Uh 99 VYA USd 3, Bie-BIe UgIst
STHEM, UG B g R HW-Hf Bt 71 ITH ARA aret 7 16 W 91 §¢ ol | H)-De! oo ol dis &
STl | TRt A1 -2, TR T Wit gE Fedel fo ara seR- Tew wR fR-R a9 =elt =i 7@ ot
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UR: ‘SR & Had # I8 BT A e MeT 37 aud I T1 fra wer 4
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2. YA S A



3, fopeft 3 7Y
4. Tat A
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6) BRI T T e d) IRA BT TRT TG Tod 1T FoId IR R $dA-Hd Hcl g3 B, fFAR & Be-81¢ v
g 3R g H@Helt W | frat Hav & WA Ft °ardl | 8 4| TP F 918 U a9 R Usd U, BIe-Bie Ugrel
STHEM, I B g R F-H1f FRA a1 ITd fARA 9rat 7 A1l WR 91 g YA FEl-bel Aedb Ao He &
STl | TRt A1 -2, T R Vet gF Fede do ara seR-w Tew wR fR-R a9 Telt @ 7@ ot
TRAT RTET AT 3R I YBTae F qI¢ ITDT JeTa+Tu+ 7o 1t T 9971 T87 4Tl W <9i-w) 99 3 9¢ 38 A,
AR A # TP eia-dt fART=m o1l o 78t A1 3@ ot g7 @ ST & Aeidie €, B & 18 Hie T 3,

S Rk o #id 8, I $81 11 98 JgRId Higd, a8 91g ol ST & IR § AT ST AT 374 9979 A ¢
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1. T H

2. HaTs |

3. fordit & =1t

4. H
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. HARH

7) S A 9 Tl df I BT YRT T 967 AT GSId TR TR HdA-5d HIdl g3 B, fFIR & B1e-81 =
T 3R &Y AEHe A | fFa-t Fev 8 TR 3t ardtl g8 w1 TF F 91¢ Uh 99 VA USd 3, Die-Bie Ugist
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IRAT BT 4T 3R I YPTae P q1¢ ITDT JeTa-Tu+ gH it Tora §97 T8T 4Tl W w4i-w0) 99 31 9¢ & 6,
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1. Ul St Urct

2. SIHETATH

3. QA B 91 o

4, UgISI
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o WA BT Ot |
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11) HRIT A T9 Tl O IR BT IRT TXT Ted T S TR IR FA-Hd Bl g3 PRIT, R & Bie-8e
e Tiq 3R g% At W | fPa-l Yov & WAzaR o urdl | g8 4| TP & 91¢ U 99 R Usd 4, Ble-Bie
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Tree 81 g1 uTan, Fiifes 3 fapa gu 3| g1 99 3 TP 9gd |a1 Ui R iR o1d R geq @t
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. oo B AfSl-A
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TETE SHWMH, I P gpH R FU-Fft Hdt 71 ITH fRA a1a ) 16 W 99 §U Y| FEl-pel 8@ el
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wree 81 81 uran, Tl 3 fyapa gu A1 991 99 A TP 9gd da1 Uis o iR ord wR gg @l

TR Ft U1t & IR | &l St udauran 8, 39 W, faga RRaw iR, S1ar 391 g 81 S & gadt oiR
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WST 38T M| faraar SR Wed AT o1 9= &1 urdl § | 39 S $t udauren A 3 3Ed # 98 o R
B 37 f3f ord) fsur ) R, 3O = ok gar &t a1 #2811 varw Wi A1) a8 o, ¥ AEHel e
S W, R e $I RIATE Hred 99 gU ard-ard I, RFd AR he-Tihg TR &1 $ar iR 3eR-IWR A
amamﬁmaﬁmﬁaﬁaﬂa%ﬁ-@ﬁ#ﬁﬁmﬁémuﬁmﬁ?ﬁéﬁaﬁa%ﬁﬁw
FATs | dUe g, TGl A T G| AHTATT §H TP gax AP | gd 3T &1 FaT GHAR, FAT e, FaT Il

B3 3R 3aT1 frepa® & o 39 Rl W S[d SARSR, Uiq USSR 3R 9g-T arieu|

ST IR Y UgHR A9 YD ¢ U $T I«k 9a15¢|
U OGS A YT Y fhaes w1y e far?

1. JH il

2. TR Sft

3. T off

4. o off

Correct Answer :-

13) PRI A T Tl A IR BT IRT TXT Ted TT| ST TR TR FA-Hd Bl g3 PRIT, R & Be-se
Hex Tia 3R 3¢ HEHet W | fha-l Yav g AA%aR o urdl | g8 41 T & 918 U 99 WX USd 3, Bie-Bie
TSl STHEM, a1 &1 g R Ht-w 1l FRA a1 3TH fRA arat 7Y A1 WR 91 g€ YA | FEl-Hel Gedb Ao
e & el T Tord! A1 -0, Fw A el g5 Fodeht i ard soR-W T w MR- v el o @
A1 I JETaAT AT 3R I YPHIae & 916 3BT Yera-Tu g Hf ds1ey a7 38T T W -S4} 99 31 96 Tt
A}, TR 79 A U 3refa-3dt fRm=n Sl o1 W8 1 o @ 8H A ST F AP 8, BT 18 Wi a3,
o R 58 Hid 8, IR H81 1 98 g Higd, 9§ STg o ST & I § FAT ST AT 1 3Td 699 4 T
Heanh 3 w1 T fP PR & goEa A 3= S 2 it Mg 8, wieh it 2 ag smmafaa anr foram a1 8ik
Fe1 U1 for fyeords &1 sy S # 8 gar 81 3 =Y, urdl, Qd, 9 Yex §, fHg sa-it w=ian & gy ot 98
& 81 g0 s l-wft sromT T gra oft 9 arad W FRA @ iR S-S AT ATl it A, <i-q Srdd,
fpe SRidIy 3R 3 ® dl &y gHR A W, FP AT Y[ off Bt aar wfafpar f gardt 37 yansi w1, a8
e 81 g1 uTan, Fiifes 3 fapa gu 3| g1 99 A TP 9gd |a1 Uis frn iR o1d R geq @t

TR Ft U1t & IR | &l St udadTan §, 39 W, [agd RRaR iR, S 391 g 81 S I gadt oiR
fh3 oTe == &Y STl 1 P11 & 32 W Y 99 31 | BIel-I, Naea Iusr-11 M 3R 9% &7 a S 9
o= 78| e a o7t Y 3w @11 fBamn R o1 &1 3@ §U a9 | IaRT 6 oel 41 a8l uRR & gfef-ar wsy
WST 38T M| fraar R Wed faaRT o1 Jmw= 31 urdl § | 39 A $t udauren A 3R 3Ed # 98 o R
®1 31 faaft ardt fosur Tt B, 39w fr=R ok ger & @t a1 Hea 81| v W DY ag uidt, ¥ aayet Srefl
S W, R e Bt RIATE Hred 99 g ard-a1d I, e fFIR Ahe-Tihg TRR] &1 $ar iR 3eER-IWR A
Wmﬁmﬁrﬁawﬁéﬁaﬂa%ﬁ-@ﬁqﬁﬁlmﬁmuﬁm%ﬁéﬁaﬁmaﬁm
FATs B dUe g, T A T G| SHTATT §H TP gOx AP | gd 3T A1 3T GHHR, FaT GaL, FaT ol

g3 3R 3011 fArsdpas & @ 39 eRet W o S[d SARSR, Ul WSS 3F 9g-T 9rfeu|

SUYE TR B UgHT 2 I Y YA HT ST qATSY|



U ST 9IE & frepae Higd o qEH) dEd & A9 § 1 WATd A1
1. FTH AP TS

2. it HR FIgRA &1

3. WieduH &= H1

4. I IARDR, Uld UIBFHR 3T 961 BT

Correct Answer :-

. Id IIRER, Uld TSR 3F §-1 Bl

14) &, TRel--

R WY R T, YRR S

TS HeaT $-1 T,
fagya-ofy X &, #13, Fachie am

a9 fosur, a1 wfaan

e wR gt

d1ge, TR

fawa fdwa, 3 & 39,

fay & fFgra & 9oa v,

3T 39T f3=m & o= & ° !

T RT, o § fbw

RUC S 1 p

qIge, TR

T 71T =izt 3t ygd R U@ W a1d U= $1 Ik qarsy|
W 9 FHiaal &1 e I Hi 32

1. ITGad Tt

2. Had T BT GART WP T AR

3. Had TH ¥ S5TdA AT Bl A B! Ucilel I8 5|
4. $ad auf W gAR Wit FR g

Correct Answer :-

. Sudad

15) dIGd, TR
WY IR IR T, YRTER Sl
ST ST -} U,



Rgga-of 3 8, $R, Tasha ama!

a9 fosur, a1 wfaan

e W -

qIge, TR

fawa fawd, S 3=,

fay & fgra & 9oa v,

T 3T 3= o & u!

T &RT, 5 | f

RUC S 1 p

q1Gd, TR

faT 1T veriw 3 vew Y U@ WM aTd Uk 1 Ik a3t
USH: 39 Hfadl # &fd giga A fra Hiw 1 3ngH Fare?
1. S &1

2. BT

3. TRGH BT

4, ST BT

Correct Answer :-

16) qIGd, TRl

W W OR ITH, YRTER Sl

1 ST $-3 U,

fagga-ofs ST #, #1, Tasiar ara:

a9 f5ur, Ta=1 wfaar

R R g

CICRI R

fawa fdwa, 3 & 37,

fay & ferg & god 4,

AT ST = | 3= & T !

T RT, e | fbx

fad & gl

q1Gd, TR

faT T veriw 3t ygw Y U@ 9H aTd U 61 I« Ja1st|
TR: 3 HiAaT & TA HI-A G 21eg § o Arg-ied divgg 22



1. TRS TR, GTUR
2. 399 A B TRl
3. 91Gd, TRW °R

4. faggd ofd, a1
Correct Answer :-

17) &, TRe--

R WY UR T, YRTER S

19 HedT $-1 T,

fagga-ofa R &, #f3, Tasftaq ara

a9 fosur, a1 wfaan

o W g

CIEC RIS

fawa e, 3= & 3,

fay & fFgra & 9oa v,

3T 39T f=m @ o= & °!

T RT, o § fbw

RUC S 1 p

qIge, TR

T 7T =i 3t ygd R U@ W a1d U= 1 Ik qarsy|
U B4 gIgal o 5 die &Y 71 3 & Fear a2
1. fordll =18 Sfdar

2. foodfl =1 S1Gd Bt

3. foo el = SfTehTRI B

4. 9% TSt B

Correct Answer :-

- {7 Bfadr o1

18) TG, RS-

WY WY UR M, YRTER S

1 HegT -1 UTe,

fagga-sfa 3 A, ®fa, Tasita ara



a1 {51, a1 wfaar

e R -

qIgel, TR

fawa fawd, S™A & 3=,

fay & fFgra & 9oa v,

3T 39T f=m @ o= & ° !

T &RT, 5 | f

RUC S 1 p

qIgel, TR

faT 7T veriw 3 vew Y U@ WM aTd Uk 1 Ik a3t
U: B4 HgaT 3 {5 I IR MU B8R X °R o1 B |
1. ST AP T8I

2. T8 HYA A §

3. 98 HUT A §

4. T8 S fadia g

Correct Answer :-

. TEHIIAI]

19) qIGd, TRl

W W IR M, YRTER Sl

T HeUT B4 UTe,

fagga-sfa R, #f3, Tasfaq ara:

a9 fosur, Ta=1 wfaan

R wR -

TG, TR

fawa e, 37 & 37,

fay & ey & god o4,

AT ST = | 3= & T !

T RT, 5 | fbv

iad & gl

qed, TR

faT T veriw 3t ygw Y U@ 9H aTd R 61 I« Ja1st|
T: STeal | fpt 1S S 3 T $7 3R 3 T A TED! HR A B B FE /T 82
1. forgm



2. 1Y
3. ®fd
4. 9

Correct Answer :-

20) STGd, TR

W WY R T, YRTER

1 ST $-1 T,

fagga-ofe ST A, #13, Tasha ama:

a9 fosur, Ta=1 wfaan

Y W g

q1Gd, TR

fawa fdwa, 3 & 39,

fay & figra & 9o a o,

AT ST = | 3F=1 & T !

T RT, o § fbw

iad & gl

CIE RIS

AT 1T yeri= 3t yg@ Y U@ 9H aTd U 61 I« ga1st|
T: BT-HTA GIRTA FIGal 8§ [baPt ST TaTS g3 82
1. fodit gadt ot

2. Tl STeTeh i

3. fordit &l bl

4. Tt A1RDT Bt

Correct Answer :-

. fodt a1d® &t

21) 9IGd, TR

R WY UR M, YRTER S

16 Hed-T $-1 T,

fagga-ofe ST, #13, Tasiias ara:



Y W -

qIed, TRl

fawa fdea, 3 & 39,

fay & fFgra & 9oa v,

3T 39T f=m @ o= & ° !

T &RT, 5 | f

RUC S 1 p

qIge, TR

faT 1T veriw 3 vew Y U WM aTd Uk 1 Ik 4138
TR <37 3T =M & S & w1 T aread 32
1. 5 GRS ¥ F1ad R 3y

2. S0 A HIS T

3. 3{SIE PIg T

4. 3131 fa=M BI MM

Correct Answer :-

. &3 fezmeii ¥ gred for 3t

22) 95, TRl

W W IR T, YRTER Sl

T HeUT S UTe,

fagga-ofa R, #f3, Tashaq ara

a9 fosur, a1 wfaan

R R g

TG, TR

fawa fawd, 7 A 3=,

fay & frera & 9wa o,

AT ST = | 3= & T !

T RT, 91 | fbx

a2 gl

q1gd, TR

faT 1T veriw 3t yew H U@ 9F aTd R 61 Ik Ja1st|
UL: fPad geu # Pt »fy Bt e srfm Foif v g @2
1. HAdH

2. frEH &



3. 6% &
4. 9IcA b

Correct Answer :-

. dad P

23) SIGd, TRl

W W UR T, YRTER Sl

1 ST $- T,

fagga-ofs ST #, #13, Tasiar ara:

a9 fosur, Ta=1 wfaan

R wR -

CICRI R

fawa fiwa, s & 37,

fay & ey & god o4,

AT T = | 3= & T !

T RT, 97 | fbx

iad & gl

q1ge, TR

faT 1T veriw 3t ygw Y U@ 9H aTd U 61 I« Ja1sU|
T T4 ¥ afe sa=ares wuTa a1 7Y, o 98 a1 eardar 82
1. 771G Ay

2. 3ABR

3. @i

4. ¥Ud

Correct Answer :-

. e Hied

24) SIGd, TR

Y IR U T, YRR Sl

T Heg1 b9 UTd,
frgga-ofy X §, o, Fasha amen
a9 fosur, a1 wfaan

e wR gt



e, TRel!

fawa fawd, 37 & 3=,

fay & fgra & 9oa v,

ST 33T o= & o= & o

T RT, ol § fbr

RUC S 1 p

qIge, TRl

T TT weriw ) ygw} R R W TR U= BT Ik Tyl
W= Bfadr & a1 fBa-fhe oruf ot 3R TFha Hrar 32
1. Bl TG TTAD

2. Pl SIS =M M Ul

3. Big A gl

4. Iugdad it

Correct Answer :-

. SWad it

25) dIGd, TR

WY WY R M, YRTER S

T HegT - UTe,
fagga-ofs ST #, #19, Tasiia" ara:
a9 f5ur, Ta=1 wfaar

R W k-

q15d, TR

fawa e, 37 & 37,

fay & fera & goa o,

AT ST = | 3= & T !

T RT, 1 | fbx

iaa & gl

q1Gd, TR

T TTT veriw 3t yew Y U@ 9F aTd Uk 61 Ik Ja1su|
U BI-91 Wsg “ITG’ BT G 181 82
1. HT

2. 3TAT

3. SIS



4. 1Y

Correct Answer :-

. PIY

26) STGd, TR

W W TR T, YRTER Sl

T HegT - UTe,

fagga-ofa R, #f3, Tashaq ara

a9 fosur, Ta=1 wfaan

e R k-

q15d, TR

fawa fawd, ST A 3=,

fay & fera & 9wa o,

MY T = & 37 & !

T R, e | fbx

iad & gl

q1Gd, TR

T T veriw 3t yewR Y U@ 9F aTd R 61 Ik Ja1st|
UT: Bfd dee @ PeR, Rl a1 =7 & WM W TR & R sgar g, |
1. Fifes Had RATH A1 HER I 19 Ta! ger

2. U1 1 SR g1

3. TR &1 SaIHdT &

4. TR SR &, ST a1

Correct Answer :-

. Hifds B RATIH I HER A BT gl TehT

27) SIGd, TRG--

R WY R T, YRTER S

19 ST $- T,
fagga-ofe ST A, #19, Tashas ama:
g9 fosur, Ta=1 wfaan

Y W g

q1Ge, TR



faed fawe, 377 4 37,

fay & fFgra & 9oa v,

3T 3T fE=m & o= & ° !

T eRT, o § fbw

RUC S 1 p

qIge, TR

T TT werie 1 ygw} R R o aT) U= BT ek Tyl
U: BId B qIal BI TG | T SET 32
1. Uh IcIdl

2. Th TR

3. Ueh ReAd

4, T -TddT

Correct Answer :-

o TS AT

28) G, TRGll!--

WY WY UR M, YRTER S

1A HeUT B4 UTe,
fagga-ofs ST #, #19, Tasiia ara:
a9 fosur, Ta=1 wfaan

e He -

CICC R

fowa e, s &3,

fay & fera & goa o,

AT STl = & 3 & T

T R, e | fbx

iaa #2 gl

q1Gd, TR

faT T veriw 3t yew Y U@ 9F aTd R 1 3wk Ja1st|
wH: 3y & fera & Joa o ford weT T 82
1. S99 9 ot ) e

2. SRR 4 g7 oAl bl

3. T 9 dgTel Al bl

4. TTHf Q S8T S B



Correct Answer :-

« T T 95T S BI

29) CANCELLED

P A T Tl dF I BT ART T 96 1911 S TRRT W FA-$d el gg D, fFIR & Sie-Bie Y M
3R B gEHelt W | frat Yav & AR Ft urdl| g8 4| TP F 91¢ U 99 WA USd U, BIe-Bie Ugrel
STHEM, I B g™ iR Ft-Hft Fft a1 Iud fiRA a1 1) A1al R 99 §U g FEl-wdl asw e A &
STl | TRt A1 -2, T R Wil gE Fedel do ara seR- Tew wR fR-R a9 =elt = 7@ ot
TRAT RTAT AT 3R I YBTae F q1¢ ITDT JeTa-Tu+ gH 1t d5re 971 T87 4Tl W) <i-w) 99 3 9¢ 38 A,
TAR T A T 3reig- FRm=m ordt o7 36 A1 3@ dt 59 aFT SR F Aokt §, FRIt A 18 We Id 31T,

S R 58 Hid 8, W $81 141 98 Jgfad Higd, 98 S1g Sl ST & IR § FAT S1dT AT 374 967 W TH
WEURM A BT 4T {5 FR & govraa & I B! A ifire dier @, i o A o) ‘srrafay anr @ o1 sk
Fe1 U1 fr fyeoRds &1 sy S # 81 gar 81 3 7dY, urdl, |, 79 Yex 7, fhg sa-it w=ian & gy ot 98t
& 21 g0 s li-waft sroeT T gra ot & sraa W HRA @ iR S-S I ATl it A, - Srdd,
fpe SRidIY 3R 3 ® dl &y THR Y W, TP AT [ off it aar wfafepar f gart 37 yansi w1, a8
e 81 g1 uTan, Fiifes 3 fagpa gu 3| g1 99 3 TP 9gd da1 Uis R iR o1 R geq @t

TR &1 91ét & IR A o) St udaren 8, 39 R, fAagpd ReR i), S 941 gen 81 S & gat iR
3 oTe == &Y STl B 1 P11 & 32 W AT 99 31 | Blel-3I, Napa Iusr-a1 Ma 3R 9% &7 al S 9
o= 78| e a o7t e 3w @RT| et =T o1 &1 3@ §U a9 | ST 6 wel o1 agY uRR # gfef-ar wsy
WST 38T M| fraar SR Wed faRaRT o1 Jmw= o1 urdl § | 39 1A $t udauren A 3R 3ad # 98 o R
o1 71 3 ardt o 36 8, 39 PR iR ger € Y 9 w21 | varl e DY ag urdl, g Al bren-
T W, R e Bt RIATE HTed 94 g ard-a1d I, R {5 IR The-Tihg TRR] &1 $ar iR 3eR-IWR A
Wmﬁmaﬁmﬁﬁéﬁaﬂaﬁzﬁ-@ﬁ?ﬁﬁlmﬁﬁﬂmuﬁm%ﬁﬁﬁaﬂaﬁﬁﬁm
HATE A TUC G, 3HT@T F T G| SHHHI gH TP gaR a1 § I 3¢ | 301 GPAR, TAT Yz, Fa-1 Fofl
§3T 3R 3011 e & @ 39 et W o S[d SAR®R, UTq NSH 3H gg-T arfeu|

SUYE TR B UgHT 2 IR Y YA HT IaX qqT5Y|
US: "% | 98 @l " Ricare: feaq war?

1. I SH
2. 994

3. U3 A
4, gD A

Correct Answer :-

. ATEH A

30) CANCELLED

DRI A T9 Tl A IRA BT IRT €Y ded 17| S TRRT R FA-Hd el g5 I, fFAR & BIe-Bi1e Y Mg
3R ¥ AEHe W | fra-t Yav 7 AR 3t g1dt | 58 w1 TP & 91¢ TP 99 WM USd I, Bie-BIC UBIS!
STHEM, I B g R F-H1f FRA a1 Iud fARA 9rat 71 A1l WR 9 g YA FEl-5e! A Ao Ais &
STl | Tordt A1 -2, SR T Wl g8 deddt dio ara seR-w gew wR fR-R a9 Telt = %@ <At
IRAT BT 4T 3R I YPTae P q1¢ ITDT JeTa-Tu+ gH +t TErad §97 T8T 4TI W w4i-w0) 99 3 9¢ & 6,
AR U1 ® U Sroft-t fARm=m o1t o 78t A1 o o) 39 @ S & Aeidie €, FRI | 18 e 9d o,

P Rk B8 Hid 8, W a1 741 98 Sigfera Higd, I8 WG Sl SIAT & a1 & AT ST AT 3T T WA TH
Tgarht 7 w1 T i FIR & goraa A 37 S 2 e wet g, wieh ot 7 agt smmafaa ahr fram ¥t 8ik
Fg1 U1 for fgeoRds &1 sy S # 81 gar 81 3 716}, urdl, |, 7Ta Yex 7, g st w=ian & gy at 98t
ﬁ%lgﬂﬂﬂh—ﬂﬂﬂmmwﬁﬁﬁmmmﬁaﬁ&ﬁ?w‘r mﬁaﬁwqﬁ%mw Y- 3,
fpY SRIAIY 3R 3 ® df &y THR T W, HaAP AT Yo off Pt ar wfafspar A gar 37 Wansi v, a8
wree 81 81 uran, T 3 faea gu A1 Ied1 99 A UH 9gd da1 Ais o ok ot wR gg @l



TR Ft U1t & IR | &l St udadTan §, 39 W, [aed RRaw iR, S 391 g 81 S d gadt oiR
3 oTe == &) STl 1 P11 & 32 W ST 99 31| Blel-I, Napa IusI-11 7 3R 9% &7 a St 4
o= 78| e a o7t 1Y 3w @11 fPanT =T o1 &1 3@ §U a9 | IRT 6 wel 41 ag) uRR F gfef-a1 Ty
WST 38T M| faraar SR Wed faaRT o1 IR 31 urdl § | 39 i it udauren A 3R 3Ed # 98 o R
®1 31 faaft ardt fsur Tt B, 39w fr=R ok ger & @t a1 Hea 81| v W DY ag urdt, ¥ aawet Sreft
S W, R e Bt RIATE Sreds 99 g ard-ard I, R fFIR he-Tihg TRiR) &) $ar iR 3eR-IWR A
3P AU A IASAT 14 9Tell 3 P afsar-dt Afear| 79 # U g8} 3t P 39 91 31 afSyl &) a1
FATs | dUe g, 1@ A T G| BT 89 TP gOx AP | gd 3T A1 34T GHHR, FaA4T e, FaT Il

B3 3R 3011 e & @ 39 eReft W S[d SARSR, Ulq NgH 3F 9g-T 9rfeu|

ST IR B UgHR A9 YD T YR HT I«k 9a13¢|
W= U & 39 W fRyd | 82

1. TTIERTST fgHTerd

2. T

3. YR U

4, DI

Correct Answer :-

« TR feArem

Topic:- General English(L2GE)

1) Fill in the blank from the correct option in the given sentence:

The teacher has been complain-- about this student since January.

1. -—tion
2. —-ing
3. ——-tive
4, ---ant

Correct Answer :-

2) Choose an appropriate modal for the given sentence:

this be the right answer?
1. Might

2. Shall

3. May

4. Can

Correct Answer :-

e Can



3) Choose the most appropriate determiner in the given sentence.

After the birthday party child was given a different gift to take home.
1. all

2. any

3. most

4, each

Correct Answer :-

e cach

4) Choose the most suitable pronouns for the given sentence:
_____drivers should have ____ Driver’s License renewed at the earliest.
1. Our ... their

2. All ... their

3. Every ... their

4. Each ... all

Correct Answer :-
o All... their
5) Choose the appropriate tenses to fill in the blanks in the given sentence:

The next flight at 2.30. you on time?

1. will, Are, have reached
2. will, Are, reaching
3. 1s, Will, reach

4. is, Can, reached

Correct Answer :-
o is, Will, reach

6) Choose the appropriate prepositions for the given sentence:

My brother-in-law was afflicted a deadly disease and was almost confined bed.

1. with, to
2. 0on, by

3.in,in



4. by, on

Correct Answer :-

« with, to

7) Choose the appropriate conjunction for the following sentence:
He is not ready to play_____his friend plays.

1. but

2. and

3. unless

4. yet

Correct Answer :-
e unless

8) Choose the appropriate antonym for the highlighted word in the given sentence.

That saintly man bears his tormentors no malice.
1. Bitterness

2. Animosity

3. Distress

4. Benevolence

Correct Answer :-
¢ Benevolence

9) Choose the appropriate option that rewrites the given sentence in its active voice.

Their hotel room was found to be very comfortable.
1. They found their hotel room to be very comfortable.
2. Their hotel room was to be very comfortable.

3. They had found their room to be very comfortable.

4. They have found their hotel room to be very comfortable.

Correct Answer :-

¢ They found their hotel room to be very comfortable.



10) Choose the appropriate synonym for the highlighted word in the given sentence.

His well-meant enquiries only aggravated her temper.
1. Exaggerated

2. Ameliorated

3. Pacified

4. Provoked

Correct Answer :-

¢ Provoked

11) Choose the option that best transforms the sentence into its Indirect form:

“Would you like a drink?”

1. He asked me to drink.

2. He asked me if | would like a drink.
3. He told me to drink.

4. He requested me for drink.

Correct Answer :-

» He asked me if | would like a drink.

12) Choose the option that best explains the highlighted expression:
I can't afford a holiday this year. I'm 1000 rupees in the red.

1. to be in excess

2. to be in debt

3. to have no black money

4. to have red currency notes

Correct Answer :-

» tobein debt

13) Choose the option that best explains the highlighted expression:
Ajay: How long have you been working on this paper?

Bijay: For the last four hours. I give up.

1. He will continue with the work.

2. He will stop doing the work.



3. He will give the work to somebody.

4. He will resign.

Correct Answer :-

» He will stop doing the work.

14) Choose appropriate articles for the given sentence:

__ students went to ____ industrial visit yesterday where they gained ____ lot of knowledge.
1. No article required, the, a

2. The, an, a

3. The, a, No article required

4. The, a, the

Correct Answer :-

e The,an, a

15) Read the sentence carefully and choose the option that has an error in it:

Irregardless of what you say, you will still be suspected.
1. you will still be suspected.

2. of what you say,

3. No error

4. Irregardless

Correct Answer :-

o lrregardless

16) Read the passage carefully and answer the question given below:

Eleanor Roosevelt was the wife of the American President Franklin D Roosevelt. She was a political
activist and made frequent public appearances.

After her husband’s death, she was appointed as his successor to be a delegate to the United Nations
General Assembly. She helped draft the Universal Declaration of Human rights which was later adopted
by the General Assembly.

When asked what was the reason behind her amazing success, she replied that it was her fear and her
determination to overcome it. She also said that anyone can conquer fear by doing things they fear to do
and continue doing it until they succeed.

Eleanor believed herself to be an ‘ugly duckling’, she was ashamed of her clothes, her looks and she was
very shy. She overcame her shyness and built her confidence and courage when she first started
working with house wives like her.



In the passage, she first started working with:
1. The President

2. General Assembly

3. United Nations

4. House wives

Correct Answer :-

¢ House wives

17) Read the passage carefully and answer the question given below:

Eleanor Roosevelt was the wife of the American President Franklin D Roosevelt. She was a political
activist and made frequent public appearances.

After her husband’s death, she was appointed as his successor to be a delegate to the United Nations
General Assembly. She helped draft the Universal Declaration of Human rights which was later adopted
by the General Assembly.

When asked what was the reason behind her amazing success, she replied that it was her fear and her
determination to overcome it. She also said that anyone can conquer fear by doing things they fear to do
and continue doing it until they succeed.

Eleanor believed herself to be an ‘ugly duckling’, she was ashamed of her clothes, her looks and she was
very shy. She overcame her shyness and built her confidence and courage when she first started
working with house wives like her.

In the passage, she conquered her
1. duck

2. determination

3. fear

4. foe

Correct Answer :-

o fear

18) Read the passage carefully and answer the question given below:

Eleanor Roosevelt was the wife of the American President Franklin D Roosevelt. She was a political
activist and made frequent public appearances.

After her husband’s death, she was appointed as his successor to be a delegate to the United Nations
General Assembly. She helped draft the Universal Declaration of Human rights which was later adopted
by the General Assembly.

When asked what was the reason behind her amazing success, she replied that it was her fear and her
determination to overcome it. She also said that anyone can conquer fear by doing things they fear to do
and continue doing it until they succeed.



Eleanor believed herself to be an ‘ugly duckling;, she was ashamed of her clothes, her looks and she was
very shy. She overcame her shyness and built her confidence and courage when she first started
working with house wives like her.

In the passage, Eleanor Roosevelt was:
1. A rockstar

2. An actor

3. A political activist

4. A musician

Correct Answer :-

e A political activist

19) Read the passage carefully and answer the question given below:

Eleanor Roosevelt was the wife of the American President Franklin D Roosevelt. She was a political
activist and made frequent public appearances.

After her husband’s death, she was appointed as his successor to be a delegate to the United Nations
General Assembly. She helped draft the Universal Declaration of Human rights which was later adopted
by the General Assembly.

When asked what was the reason behind her amazing success, she replied that it was her fear and her
determination to overcome it. She also said that anyone can conquer fear by doing things they fear to do
and continue doing it until they succeed.

Eleanor believed herself to be an ‘ugly duckling, she was ashamed of her clothes, her looks and she was
very shy. She overcame her shyness and built her confidence and courage when she first started
working with house wives like her.

In the passage, believed herself to be an ‘ugly duckling’means: She was
1. wearing a duck costume

2. not feeling pretty

3. quacking like a duck

4. becoming a duck

Correct Answer :-

* not feeling pretty

20) Read the poem carefully and answer the question given below:
My grandma is old and weak

But she’s always happy and ready to speak

Of the Stories of when she was young

And could run faster than everyone



Sometimes when she remembers these times
I can see that she gets sad.
Looking at my beloved granny like this,

I begin to feel quite bad

So I put on my blue floral frock
That was her gift to me
And somersault in her room

For her to clap and see

I want to cheer her up
So I run to the shop
And buy all her favorites:

A toffee and an orange lollipop.

This poem is about the speaker’s
1. grandmother

2. grandfather

3. teacher

4, friend

Correct Answer :-

» grandmother

21) Read the poem carefully and answer the question given below:
My grandma is old and weak

But she’s always happy and ready to speak

Of the Stories of when she was young

And could run faster than everyone

Sometimes when she remembers these times
I can see that she gets sad.
Looking at my beloved granny like this,

I begin to feel quite bad



So I put on my blue floral frock
That was her gift to me
And somersault in her room

For her to clap and see

I want to cheer her up
So I run to the shop
And buy all her favorites:

A toffee and an orange lollipop.

What does the child buy?
1. Frock

2. Bread

3. Toffees

4. Flowers and a lollipop

Correct Answer :-

« Flowers and a lollipop

22) Read the poem carefully and answer the question given below:
My grandma is old and weak

But she’s always happy and ready to speak

Of the Stories of when she was young

And could run faster than everyone

Sometimes when she remembers these times
I can see that she gets sad.
Looking at my beloved granny like this,

I begin to feel quite bad

So I put on my blue floral frock
That was her gift to me
And somersault in her room

For her to clap and see

I want to cheer her up



So I run to the shop
And buy all her favorites:

A toffee and an orange lollipop.

Who is speaking?
1. A girl

2. Mother

3. Grandmother

4. A boy

Correct Answer :-

23) Read the poem carefully and answer the question given below:
My grandma is old and weak

But she’s always happy and ready to speak

Of the Stories of when she was young

And could run faster than everyone

Sometimes when she remembers these times
I can see that she gets sad.
Looking at my beloved granny like this,

I begin to feel quite bad

So I put on my blue floral frock
That was her gift to me
And somersault in her room

For her to clap and see

I want to cheer her up
So I run to the shop
And buy all her favorites:

A toffee and an orange lollipop.

What does the grandmother like to talk about?

1. Tales of Panchatantra



2. Animals and birds
3. Grandfather

4, Stories of her childhood

Correct Answer :-

o Stories of her childhood

24) Choose the right tag:

He wasn't here yesterday, ?
1. didn't he

2. did he

3. was he

4, wasn't he

Correct Answer :-

e was he

25) Choose the option that substitutes the given phrase appropriately.

A disease that affects a large number of people in an area at the same time
1. Paleolithic

2. Pantomimic

3. Endemic

4. Epidemic

Correct Answer :-

» Epidemic

26) Choose the most suitable option to express the meaning of the sentences combined together.

All animals need water. They may die without it.

1. All animals need water, but they may die without it.
2. All animals need water and they may die without it.
3. All animals need water; else, they may die without it.

4. All animals need water when they may die without it.



Correct Answer :-

« All animals need water; else, they may die without it.

27) Fill in the blank with the most appropriate preposition in the given sentence.
The fox jumped  the fence to enter my house from the woods.

1. above

2. through

3. over

4. on

Correct Answer :-

28) Fill in the blank with the correct option in the given sentence.

Educational loans will --able even poor students to study in professional colleges.
1. dis-

2. en-

3. un-

4, in-

Correct Answer :-

29) Fill in the blank with the correct option in the given sentence:

Some people shop , Whereas others just buy whatever they see on the shelf.
1. selected

2. selectively

3. selective

4, selection

Correct Answer :-

 selectively

30) Change the given statement to indirect speech.

They said, "We will come home this evening.”



1. They said that they will come home this evening.
2. They said that they would be coming home this evening.
3. They said that they will be coming home that evening.

4. They said that they would come home that evening.

Correct Answer :-

o They said that they would come home that evening.
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